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Explore:[image: ]
Given that ABCD is a parallelogram:


1) Identify all known congruent sides.
2) Identify as many alternate interior angles as you see. 
3) Which triangles are congruent? How do you know? By which congruence rule? (SSS, SAS, ASA, AAS)
4) Since you have congruent triangles, can you use some corresponding sides to find a few more congruent segments than you listed in (2).


Practice applying properties of Parallelograms: 
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Prove that the following quadrilaterals are parallelograms. [image: ]
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How can | prove its a parallelogram on the coordinate plane?

‘What are the different ways we can show its a parallelogram?
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Exercise #4: In the diagram shown, it is known that RU || ST and RU = ST .
Prove that RSTU must be a parallelogram.
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Exercise #2: On the diagram, quadrilateral RSTU is shown with vertices
R(0.3),5(9.6).7(6.1) and U(-3,-2).

() Prove that RSTU is a parallelogram using coordinate geometry.

ST using coordinate geometry.

>
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Fill in the reasons to the proof below.
Given: Z1=22and £3= 24

Prove: ABCD is a parallelogram

Statements |
(1) Z1= 22 and £3= 24, (1)
(2) 4BII DC and BCII 4D @

(3) 4BCD is aparallelogram ~ |(3)
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Below, quadrilateral ABCD is plotted with coordinates 4(0,8). B(4,2), C(=3,~4) and D(-7,2).
P4
() Caleulate the slope of each line segment. Show your

calculation and express your answers in simplest form.

4B: BC: CD: 4D:

(b) What conclusions can you make about parallel sides based on

these slope calculations?

(¢) What conclusion can you make about quadrilateral ABCD?
Why?
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Do Now: Explain why DE//AB

c Given: CD=12, CE=6, EB=2, and DA=4.

Explain why DE//AB.
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